Enrichment

Name
. 6-5
Shaping Factors and Products
Each problem below uses shapes instead of numbers.
Each shape has avalue of 0, 1, 2, 3, 4, or 5.
The shapes have the same value for all problems.
As you figure out the value of each shape, fill in the key at the right.
Then rewrite and solve each problem.
1. ve Rewrite and solve here. KEY
X L 4
XY e 0=
1= ®
2. YR e Rewrite and solve here.
X \ 4 2 =
(o I 4
3 =
3. *Ve Rewrite and solve here. 4 =
X »
RO 5-_®
4. RYRY Rewrite and solve here.
X A4
yovy
5. VIV & Rewrite and solve here.
X A4
108 JOVA 4
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